CPSC 10/WMST 201 Sample Midterm Questions

Following are sample questions for the midterm exam. Qaestirom the past quizzes are also good
samples. In the actual exam, blank space will be providedhichwou can write your answers.

1. In part (a) of this question, check ONE OR MORE boxes, faheenswer that you think is correct.

(a) The party protocol coordinates message delivery on
[ ] anEthernet channel.

[ | apointto point network.
[ ] the World Wide Web.

[ ] aTCP/IP protocol.

(b) For each pixel in an image, the intensities of three asl@ue stored. In the model described
in the text and in class, what are these colours?

(c) If the colour of a pixel is a shade of gray, what constaimiust the three colour intensities

satisfy?
(d) Give the decimal and hexademical numbers corresporiditige following binary numbers.
Binary | Decimal | Hexadecmial
10011111
01010000




2. Transmission Control Protocol/Internet Protocol (TIBPIs used to send messages across the inter-
net. Summarize in your own words how TCP/IP works.

3. Letgr eek be the array on the facing sheet, which has 31 entries - dfleshtthe names of Greek
gods and heroes. (To fit the array on a sheet, the entries @tenwertically rather than horizon-
tally.)

Given a value foguer y, the following binary search algorithm outputs the indexh&f position in
arraygr eek wherequer y is stored, assuming that the valuegofer y is in the array. For example,
if query has valueHera, then the algorithm outputs 15. (Note that the algorithmasaiibed in
pseudocode, rather than in any specific programming lareguag

1. first = 1,

2. | ast = 31;

3. mddle = (first + |last)/2;

4. i f query == greek[m ddl e] then

5. {

6. out put mddle (and stop)

7. }

8. el se

9. {

10. if (query < greek[mddle]) then { last = mddle - 1;
11. if (query > greek[mddle]) then { first = mddle + 1;
12. }

13. search in the array (fromline 4 above) between first and | ast

In this problem, suppose that the valuequfer y is Agis. In the boxes below, fill in the values of
variabled i r st , m ddl e, | ast, andgr eek[ m ddl e] , at the end of each successive execution
of line 3 of the code.

query first m ddl e |ast gr eek[ m ddl e]
Agis

Agis
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